
1− 0.8− 0.6− 0.4− 0.2− 0 0.2 0.4 0.6 0.8 1
*)θcos(

1520

1540

1560

1580

1600

1620

1640

1660

1680
3

10×
co

un
t

<1.8
T

Corrected Yields 1.2<p <1.8
T

Corrected Yields 1.2<p

1− 0.8− 0.6− 0.4− 0.2− 0 0.2 0.4 0.6 0.8 1
*)θcos(

295

300

305

310

315

320

325

3
10×

co
un

t

<2.4
T

Corrected Yields 1.8<p <2.4
T

Corrected Yields 1.8<p

1− 0.8− 0.6− 0.4− 0.2− 0 0.2 0.4 0.6 0.8 1
*)θcos(

50000

52000

54000

56000

58000

co
un

t

<3.0
T

Corrected Yields 2.4<p <3.0
T

Corrected Yields 2.4<p

1− 0.8− 0.6− 0.4− 0.2− 0 0.2 0.4 0.6 0.8 1
*)θcos(

8000

8500

9000

9500

10000

10500

11000

11500
co

un
t

<4.2
T

Corrected Yields 3.0<p <4.2
T

Corrected Yields 3.0<p
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